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b1g356Odgo Ly3mbggGbzom

b5306539M9630m bogsGAgwo bywmgbrmo Gysgol HGdOwWO BEsdoGom. M-gl Bopgzsto dg@swols
JOm30MgdrIEo Bgboo ©s LsbgarrIMIdOm. LabgwYHBY FoWIZMTIEO BHYsgol Gdowo
Bgs30600), HMIWOL LogH MM bMdgdos: boyMdg - 33,5 Ld+/- 110. Loe®dg - 4,53+/- 0.5L0.

L5356 dEol BLIHRO 5 LR EMI0 30 YOO 3nOOBMBHIYMO bsBom M Bsfowsw ogmes.
L5350l LogHmm Bmdgdo: bodowenrg - 98,5L8+/- 210.Logabg - 59L+/- 110. Low®dy - 67L0+/- 113.
bIHROL Lodswarg - 59b3+/- 118. Logsby - 49L3+/- 113. LR M0 boysby - 50L3+/- 118. boE®dY -
53L8+/- 119. o>y - 43L8+/- 113. Labge AL LogMdy - 4063+/- 1. bodsweny - 29L3+/- 113.
bo®dg - 5-6L0 EsLXE®IOL Lolgg - 9-10L0. BgMo- Fsgo
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Qobbgargds: L3I0 T30 B5OL BYPZ0MOM, JHMT0MYOLO dsBom, LabgerrMom,
3MOZMOFIOON

D9©33060: Jo@oe0 baolbol 3590533360 BooLYdMO Jurmgowo 3meoglitgHol dswy
B9bo: JHMBoGIONO 35OL3IZE530LYBNIBO BgbO, 5 FMYMESFO0

bodswol OHYaEomgds: sFmMEOBGMMOb Lodswerg 10 b0 (+213d)

Labgre®gdo: 8530 BgHOL 3me036Gm30ergbol 56 3erabdsliol dsbsens

b Mdol Lodswaenyg : 55.5 1d (+3L3)

UsbHE0L Lodswewy: 66.5 L3 (£303)

bbb bogsby: 47 L0 (+21:3)

UsgGHorem Lodsearg: 11213 (+419) - 120 b3 (+4L3)

39ML3sg5 Bgbob sdgBHMo: 64 1D (+413)

356b3535 Bgbob bodsweg: 16 b (+210)

abaxMdol bLogaby: 47 13 (+20)

@sbox Mol Low®dy: 49.5 13 (+303)

abaxMdol boligg: 51 (+1,560)

899560%80: Jobsmdob G700 ©s LoBseEol HYrIEOMHYdS.

55

bomgolg bgsdo

39350l 3563560, MMbO 3MRMOMEsF0s60 Bgbom, HMAIdOE dMEPMZEIdS 3rsliBdstiols
05¢)530b ©3I3530 doMIBOm. babgMIdOL g3@dy, HEBOO LsBLYMYOMS S IR M0,
030G IBIOI05 HBOWO HBYIE30MH0M — oo bsMolbol Howml Jumzowoo.
bobOEILs ©5 LIREMAL 16> 3gmbEYL 3EaliBlob FaMg3960. LogHmM Bemds: Lodsmeg 79 £
218, bogaby 52 +2 19, bo®dg 60 * 2 b3, EsLsX ML Logsbg 46 + 2 113, boE®dy 42 + 2 13.
Dyob bogsby 48 2 13, bodswerg 35 + 2 1d. ggGo ~dogo.
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